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P-NII(1+1+1) G/21 (V)

EDUCATION (General)
Paper Code: III-A & B

[New Syllabus]

Important Instructions

for Multiple Choice Question (MCQ)

® Write Subject Name and Code Registration number, Session and Roll

numbier in the space provided on the Answer Soript

Example : Such as for Paper IIILA (MCQ)} and [I-B (Descriptive).
A

Subject Code :

Subject Name :

11

&

B

® Candidates are required to’ attempt all questions (MCQ). Below each
question, four alternatives are given [Le. (A}, (BL (C), (P)]. Only one
of these alternatives i= ‘CORRECT answer. The candidate has to write
the Correct Alternative [1e, (A)(B)/(C)/(D)] aganst each Question No.
m the Answer Senpt

Example — K altemnative A of 1 is correct, then write :

1. —A

* There = no negabive marking for wrong answer
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Paper Code : III- A
Full Marks ; 30 Time ; Thirty Minutes
Choose the comrect answer.
Each qusstion carries 2 marks
1. Which of the following 15 the hishest l=vel of measurement?
(A) Ordinal Scale
(B) Nominal Scale
(C) Tnierval Scale
(D) Ratio Scale
S| RS WD e A M T
(A) T
(B) ¥ HF
(C) == 5=
(D) =eeiTe =
2 The full form of NRT s —
(A) Nomm Referenced Test
(B) Numerical Referenced Test
(C) Neutral Referenced Test
(D) Natural Referenced Test

31 NRT-50 7«1 54z 54 —
(A) Nomm Referenced Test
(B) Numencal Referenced Test
(C) Neutral Referenced Test
(D) Natral Refersncsd Test
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. Evaluanon 5 usefsl forsmdesms beeagzse - them
(A) Pressures

Lkg

(B) Momates

(C) H=lps
(D) Encourages.

4. Which of the following 15 not a type of valudiy?
(A) Content ‘
(B) Construct
(C) Predictrve
{D) Test-Retest

8| WpT (ED TUISEE o
(&) =R
(B) Figmaa
(C) Sigs w=rE]

D) TR
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15'are the charactenstics of a good test
(A) Vahdiy
(B) Rehability
(C) Objectivity
(D) All the above

#1 =7 T TR oA |

(C) Ty ===
(D) TomEs 7R

6. 15 the best measure of Cenmal Tendency.
(A) Mean
(B) Median
(C) Mode
{D) Nons of thess



i

-d|

Second quartle 15 also known as

() Mean

(B) Median

(C) Maode

(D) None of these

ReTvgdd ____ Wwe #es
(A) T2

(B) ==gam=i

(C) &rE

D) @Fes v

. Whe developed the concept of 1Q7

(A) Alfred Binet
(B) L M Tenman
(C) Willsam Stem
{D) David Wechsler
(A) =TErE A
(B) &=1. &, B
(C) E2iwms B

D) EFE o=
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9 Who propagaiad the method of Product Moment?
(A) Speanman
(B) Paarson
(C) Galton.
(D) Gulford
3| (% (HTTTE (NG 7% £F e mEm
(&) Trermream
(B) femrEma
(C) =70
1) B e

10. Which of the following 1s a measure of Co-efficient of corrslaton™

(A) Average Deviation

(B) Standard Devianon
(C) Quartile Desiation

{D) Rank Difference

Yo | VIS CED FDUET WRUE-OE AEE T
(A) 2 e
(B) 7= 9iie
(© e e
(D) == =1
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11. To assess the performance at the end of instruction 15 —
(A) Placement Assessment
(B) Formatrve Asscssment
(C) Summatre Assessment
(D) Dhamnostic Assessment
V3 | FEAAATE (AT AR HEETeE T A —
(A) Placement Assessment
(B) Formative Assessment
(C) Summatree Assessment
{D) Diagrostic Assessment
12. What 15 the full form of CRC?
(&) Cumilative Record Card
(B) Cnterion Record Card
(C) Comstruction Record Card
(D) Content Record Card

¥3 | CRC-6% 9% =t
{A) Cumulatrve Record Card
(B) Crtenion Record Card
(C) Ceonstrucnon Becord Card
(D) Content Record Card
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15. Who s the propagator of non-directive counselling”
(A) Vigomdy
(B) Brunnsr
(C) Kohler
(D) C. R Rogers
(A) SRS
(B) ==
(C) FTE
D) & e ==
14, Which is an =xample of mal-adjusted behaviour?
(A) Dvme
(B) Temperament
(C) Truancy
D) All of these
¥8 | 7 WA (Y TS WG e —
(A) Twegt <=1
(B) S9==F
(C) == =

(D) 7=ET
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15. The cause of sexual offence 15—
(A) Lack of emotional attachment
(B) Lack of =ex educanon
(C) Infenonty
(D) All of these

| (AW BT R A —
(A) (o= %o
(B) (=T Tew

e
Tieiale

IR A

(C)

D) Fo7FE FesET
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P-OI (1+1+1) G/ 21 (N)
2021
EDUCATION (General)
Paper Code : [I1-B
[New Syllabus]

Full Marks - 70 Time - Two Howrs Thidy Minutes

The figwres tn the margin:indicate full marks.
A Arnswer anv fwo queshons 15=2=30

(1) What 15 essay type test? Mention the ments and demernts of essay nipe
=5t F+hily

(2) What are the measures of vanabiliy? Caleulate Quartle Devianon (QD)
from the Sllonwumz distnbunon
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|Scora|ts-15[20.24
£ 6 | 12

40-44|43-49/50-54/55-59
7 | 4| H 7

N=120

3+12=15

(3) Defins muudance Writs the nanwe and scope of swmdance 366515

(4) Define counselling Dhscuss different fypes of counselling along with theyr
mwaphcancen F+12=15

.....
o
At
o
e
LAl

B. Answer any o questions 10%2=20
(1) Weee the uttlty of svaluahon mn educaton
(2) Discuss the nature of evaliation
(3) Wiite the needs of cumulative record card.
(4) How can school prevent maladusted bebaviour among students?
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C. Answer any fowr questions - xd4=20
(1) Mennon the steps of Counsellne process.
(2) Write the differences between Individual and Group Counselling.
(3) Whar are the different types of comelation?
(#4) Dhscuss the charactenstics of a good test
(5} Write a note on “Vocational Guidance™.
(6) Whar are the advantaces of directive counselling?
(7) Calculare: M=an and Median from the following ungrouped dismbunon :
6,12, 14,10, 13, 10.5, 12. 8
(2) State the major causes of maladjustment.

Loty

e s

A 7 T R wE T WG 15%2=30

(1) Tom%Al Zrerel =7 ToaREl HorEE Ned 8 Sreerse e Sl |
AHhE=15

(2) R «aswins 1 7ie 57 700 (90 e Ryte R s

;EEGIE 15-15/206-24|25-29/30-34(35-39140-44(45-49(50-54{55-39
f & 12 16 18 19 L7 14 11 7

N=120
3+12=15

(3) Tomes 7oz win | oReE ogTE oo sREEER e 36+6=15
(4) vErwR-g Wim w6 | Sren oaE T O (AETE Sw e

AT 3+12=15
B. (% A RIS wiwe TEE e 10%2=20

(1) Frerecs uRes S (A
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(2) FUEGE EFe EE0A S0 |
(3) BTAbY E=C =0t wEETe F
4) Fw=E == R T T AR 6% geTe HBES (SR oA

C. (= (371 B 28 T58 WS Txd=20)
(1) #FTee B5enE 2 wag = Sl
(2) ST & IS R WS A FRT)
(3) FEsToE vemmeT 5 93
(4) =T 7] Torem AEE
(6) ZET= AEAEILAE RCAIEE o
(7) FEETE TR TR a0E T e W WE =E
6, 12, 14, 10, 13, 10, 5,12, 8
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